&_L_g(b \Awer,\__%wu_\ 30eS_ond o nn-odusedh 4.
/;)/ /%b AN \ookh e Z48s
N A=10 bzl mAR=20°
& -
A\ A () * 30 a- /0
/5& \’O 2 mAYD 53\ m,q b- 1L
1 % aw\ wihe .99°280° c09,% 1K
T
e
SNty = S\n:\?) - g 4 5.(\60 5\an°\
/o /G '8'753"\@ B
= S0 E)': . % V - ¢ - \OLC*\
®= 53" o
| 15 -S3.1° = 1269 obhst.
/\“\-b D0 = Sn13 )
/mﬁ“\ /10 /0 T C.
) S 28\ ¢ -8
& = e




A

|

Q=20 Q%lko | m?LPs=3>0°
>

- WAkt 3 o200
/XZO AR 12647 o * S
2 B-bt ¥op( f22 -l

ZL.2.

| 25030 - 90l Sn30 = SnlZCY

206 76 20 b

L fadat’ s  be22.2.
Oawse V80 -23.G6 =184

—— - —_— -
i e . | i i b — s st
R s il R . bt i -




